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1 |deiEE 1.1E+3 1,100.0 1.2E+2 120.0 1,220.0
2 | BEHRR
3 | 5FER 1.0E+1 10.0 10.0
4 [EWE
5 |MHE
6 [ILUZE
7 |EER 9.1E+0| 3.0E+0 12.1 3.2E+1 32.0 441
8 |ZWE 1.3E+3 1,270.0 8.0E-1| 1.1E+3 1,098.8 2,368.8
9 [HARE 4 2E+3 4213.2 7.6E+0 7.6 42208
10 |HBE 2.9E+3 2,900.0 6.8E+2 680.0 3,580.0
11 [BEE 1.1E+4| 1.0E-1 10,969.4 6.2E+3 6,181.1 17,1505
12 |FEER 7.6E+3 7,632.8 2.1E+3 2,064.0 9.696.8
13 |REE 6.2E+3 6,207.0 7.9E+2 790.0 6,997.0
14 |[#FIE 5.6E+3 5,619.0 6.0E+0 6.0 5,625.0
15 |#FiRE
16 |[EWLE
17 _|RBINE 7.3E+0 7.3 1.3
18 |[fEHE
19 [IWFRE 2.6E+3 2,600.0 5.0E+2 500.0 3,100.0
20 |REHR 8.3E+3 8,260.0 3.2E+2 315.0 8,575.0
21 [IHBE 5.9E+3 5,920.0 3.6E+2 360.0 6,280.0
22 |EEE 5.8E+3 5,750.0 5.750.0
23 |BHIE 3.7E+4| 1.6E+1 36,646.0 2.8E+2 278.0 36,924.0
24 |[ZEE 1.9E+3 1,903.5 4 8E+2 480.0 2,3835
25 |HER 1.1E+3 1,114.3 3.5E+2 351.0 1,465.3
26 |FREBAT
27 | KBRFF 3.5E+3 3,519.1 40E-1| 6.0E+3 5,982.2 9,501.3
28 |EER 2.7E+3 2,709.4 7.6E+1 75.6 2.185.0
29 |ERE 4 5E+2 450.0 9.4E+2 940.0 1,390.0
30 |fnERLE 2.8E+3 2,770.0 2,170.0
31 |EmE
32 |BiRE 1.5E+3 1,500.0 8.1E+1 81.0 1,581.0
33 |MEWE
34 |[LER 6.4E+0 6.4 6.4
35 |[WAOR
36 |EER
37 _|FBINER
38 |ZRE
39 |=BHER
40 |fEEE
41 |#EER
42 |RBE
43 |RERIE
44 [ KHE 1.0E+1 10.0 10.0
45 [EIBE
16 |EREE
47 [;hiBe
& [F 11E+5] 1.9E+1 113,092.2 1.2E+0] 2.0E+4 20,349.6 133.441.8
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